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a) Tick the additions with an answer that ends in zero. L’_ Write each calculation in the correct column.

3174203 | | 1924784 | | 3904177 | ( 712 + 394 ) (1,312+2,527) (2,350+3,750)

( 1,995 + 712 ) (3,044+2,372) ( 17 + 953 )

No exchange More than one
One exchange
needed exchange

455 + 165 |:| 386 + 184 \:l 319 + 501 |:|

b) Did you have to work out all of the additions?

c¢) Complete the sentences.

The answer to 175 + 212 ends with a

The answer to 609 + 175 ends with a

The answer to 334 + 178 ends with a

The answer to 716 + ends with a 3




